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Abstract

The aim of the research was to identify the effect of using the Task Wheel Model in learning
some forms of handball shooting among students of the College of Physical Education and
Sports Sciences at the University of Babylon. The study adopted the experimental approach
by applying the quasi-experimental design on a sample consisting of (a hypothetical number:
(38 students) who were randomly divided into two groups: an experimental group (19
students) on which the Task Wheel model was applied, and a control group (19 students) who
received instruction in the traditional way. The researchers used measurement tools, including
performance tests, to assess handball shooting techniques (shooting from the pivot, high
jump, and shoulder-to-side). The results showed statistically significant differences between
the two groups, in favor of the experimental group, in the level of learning handball shooting
techniques. This indicates the effectiveness of the TASK wheel model in improving students'
cognitive and motor performance. The study also revealed a positive correlation between the
TASK wheel and motor performance. In light of these results, the researchers recommended
the generalization of the TASK wheel model in teaching mathematical skills, training
teachers on its application, and conducting further studies to test its effectiveness in other
mathematical contexts.
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